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Note : This paper is of eighty (80) marks containing three
(03) sections A, B and C. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given therein.

AlC 0 UE U UF T (80) 3l T I M (03) WU
‘@, @ qar m H el 21 R @ g9
grel # fy v favga e & oeR &yl @
SR < B

Section-A / GUls—d

(Long Answer Type Questions) / (€78 IT<1I T2

Note : Section ‘A’ contains four (04) long answer type
questions of nineteen (19) marks each. Learners are
required to answer two (02) questions only.
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e @ ‘P W AR (04) <Y S WA e T
TAG Y B foy SIM (19) e fEiRd ¥
iRl &1 ST F ®ad &1 (02) Tl & ST o
gl

1. What do you understand by Comparative Public

Administration ? Trace the factors responsible for its
development more speedily in modern times.

OIS Wi YR ¥ QY I FHed & 2 A
T 4 g9e i QoM @ v StRerl dw@l @
fergeryor FIfTY |

2. Discuss the assumptions, features and limitations of
Behaviourism.

IERATE DI AIaRN, faewaren 7 ARl @1 fadem
I |

3. Describe the salient features of the Chinese
Constitution.

I & U™ o JE fRIami &1 auie Sifog |
4. Critically examine the structural-functional approach
as propounded by Almond.
AW gRT UfeHIed ARamIcidm-UhraiHd SURTH &
AHTHd TIE0T DI |
Section-B / YVs—g

(Short Answer Type Questions) / (g ITRIT U%)

Note : Section ‘B’ contains eight (08) short answer type
questions of eight (08) marks each. Learners are
required to answer four (04) questions only.
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. @ue ‘@ # 36 (08) oY ST T A M E
TAG Y b fU eme (08) ofp fwiRd R
e @ 37 ¥ dadt IR (04) Tl & IR <A
g

What is Development Administration ? Explain its

origin.

fIPT TR @1 € ? S99 SR & R H ey |

Write a note on Post-Behaviourism.

SIR-FIERATE W U fewoll forRay |

Describe the salient features of British Administrative
System.

fafeer yemaNe @awer o q=g faewdel @ que
BT |
Describe the American Federal System.

MR FE FaReIT BT quIF BIfSTT |

Describe the structural-functional approach.

AR D-TBTITAS SUNH B faaae & 3Q|

Evaluate the importance and achievements of
Panchayati Raj in India.

WIRA H YR RIS & A8 9T SUAer]l &1 qellh

I |

Write a short note on American Civil Services.

AR 1 Al Harail W T wfer fewell feriy |

Describe the Riggsian Prismatic Society.

R & iy war @ fadaer @i |
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Section—-C / ue—T[
(Objective Type Questions) / (A& T)

Note : Section ‘C’ contains ten (10) objective type

questions of one (01) mark each. All the questions
of this section are compulsory.

gus T ¥ g9 (10) TS W [ W 2| IS
T @ forv ve (01) o FeiRa B 39 @ @
ol w3 arfad 2

Indicate whether the following statements are True or False :

3 oifse & FfaRad $om 9 € 91 3T
1. Behaviour approach is particulary associated with the
work of American Politial Scientists. (True/False)
agRRaT) e BT BT ¥ oRRE worR
IFH & M A T & | (T / 3T)
2. One Party System is found in China. (True/False)
99 # TdHeelg Ao B | (< / 1)
3. Unitary Government is a feature of American
Constitution. (True/False)
THIHS T Tl SR®! wfaems & u& fagrsan
2 GRVERRY)
4. Great Britain has a constitution mainly based on
conventions. (True/False)
e 32T 1 wfaum Tega: aft W SmEIRd 2
GRVASR)
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5. The first country to adopt written and rigid constitution
is China. (True/False)
foRed @ HoR Hfu™ @ Fe9 gl A # ofuemn
T o7 | (T / 3c)

6. Parliament Type of Government is found in Britain.

(True/False)
firesT & wadhy am womelt ® | (G / 3rc)

7. Post-behaviourism is related with fact and value both.

(True/False)
STR-IIERATE T T4 el Q1 o YT 2 |
GRVERRY))

8. Panchayati Raj System is based on Democratic
Decentralization. (True/False)
TAR YN AR AGdIAG f[Abwiax & Rigrd
TR 3R 2| (A / 3rc)

9. Britain is the classical land of the ‘Rule of Law’.

(True/False)
e @A & I @ e i (@) €|
GRVASR)

10. Sala model is related to Fred Riggs. (True/False)
ATl UTeY e R W R § | (T / 3rc)
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